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ANOVA
fn S.v) df. | ss. M.S. f
Regression ? ? 3805.7580 fy = 574.35
Error ? ? 6.6262
Lack of fit ? ? 9.1716 f = 1.5874
Pure error | ? 69.3333 5.7778
Total ? 3911.7778
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Ls = - ? ?7+ .53 = ?
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ANOVA

S.v. d.f. Ss MS. f
Regression l 3805.7580 3805.7580 fi = 574.35
Error 16 106.0198 6.6262
i Lack of fit 4 36.6865 9.1716 f = 15874
Pure error 12 69.3333 5.7778
o Total 17 3911.7778
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1) SStr = SST- SSE
= 4.9024-0.5430 4.3684
n =5, "2 =3, 4, ns = 5
N = n; = 17
i
t = 4
ANOVA
S.v. d.f. SS. MS. f
Treatments 3 4.3594 1.4561 35.4282
Error 13 0.5430 0.0411
Total 16 4.9024
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L = pi~m 5% = -.74 | -4+ 61= (-1.35, —.13)
Ly = pi—~us X1 -X3=-1.29 -1.29+ .56 = (-1.85, —.73)
Ly = 1~ X1-% = —-.2 -2%.5% = (-.73,.33)
La = p2—~us X2—%3 = —.55 —-55+.64 = (-1.19, .09)
Ls = p2—ua Xx-X = .54 54+ .61 = (—.07,1.15)
La = H3~Ha X3—% = 1.09 1.09 + .56 = (.53, 1.65)
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Ho : X n~ Poisson (m = 1)
Hy : x Nl nnsuanuaq wun Poisson
a = .01
CR:X*>x} 5= 13277 (df. =5 - 1= 4)

Xi 0 1 2 3 4 5 6 7
Pi 3679 3679 L1839  .0613 .0153 .0031 .0005 .000!
€ 14716 14716 7356 2452 6.12 1.24 20 04
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0i 129 137 83 38 0 2 0
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- (129- 147167 | (13 —6.88) _ 15,4014
147.16 6.88
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Ho:p1=...= ps
T Y W
Hi s p TimAuvug
o = .05

CR : X*> x s =9.488, df. = (5—1)(2-1) = 4

oi oL Timwenalsn | monnlse 59U : R
1 23 22 45
2 28 38 66
3 14 13 27
4 23 32 55
5 17 32 49
i"JﬂJ‘: C 105 137 n =242
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